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Aufgaben-Quickname: 7028

Aufgabe 1
Bei drei Aufgaben ist ein Fehler passiert. Markiere die falschen Aufgaben.

A)8:2=16  1)3:3=9  10-6=60  d)5-8=4% 40
8:-3=19 24 07-6=42 94-10=4 40 n)7-1=7
)2-9=18  j)8-6=48

Aufgabe 2

Bei zwei Aufgaben ist ein Fehler passiert. Markiere die falschen Aufgaben.

a)2:-9=18 16-2=12  ¢2-5=10  d)10-2=22 20
)7-2=17 14  £)2:-3=6  2-2=4  n)4-2=238
02-10=20 j)2-1=

Aufgabe 3
Bei drei Aufgaben ist ein Fehler passiert. Markiere die falschen Aufgaben.

A)7-4=24 28  B7-10=70 7-9=60 63 A)1-7=7
)8-7T=56 010-7=70 ¢ 7-6=42  L)7-T=44 49
N7-5=35  j)7-3=21

Aufgabe 4

Bei drei Aufgaben ist ein Fehler passiert. Markiere die falschen Aufgaben.

a) 86 =47 48 b)6-3 =20 18 ¢)4-9 =36 d)6-4 =24
e)3-9=27 H7-1=7 g)6-9 =54 h)9-4 =36
)h-7=36 35 0V2-2=4

Viel Erfolg!
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